goooobbogoooooboogad
guooubobooooooobod

0000 (00000000O0O0O0000)”

1. 0000

do000d0DO0d0oo0odpDooooo, 00000000 ooooDooooOoon
O0O,0000000000000000O0000000DO00O0O00DDOOo0ooOoOooDoOd
00000000000, 000,00000,000000,0000), shooting method (O O
000)000000000000,0000000000000000DO. D0OOOO0O0
O0000,0000000000000D00000 shooting method DOOOO. OODOO
OO000000,0000000D00D000000000O00DbO0bOO0OO0D. obooOooag
O000,0000000 timeemap 00000, 00000000 Kolodner-Coffman OO 0O
OO0000000D0O. O0D000DO00000 shooting method 00O OOOOO, 0000
OO000D000o0,000000000D00000D00D0D000DO00DOO00DOooan.

oo

(1.1) {U”+M@fW%=O(0<x<1%

u(0)=u(1)=0
O0000000000. 0000000 w(x)OOOODOOD wO00O0O0O0DOOO. 2=00

+=100000000 (0,1)000000.00 w0)=u1)=000000000. 000
00000000000.000,00000000

au(0) 4+ fu'(0) = A, ~yu(l)+du'(1) =B
O00000.000,00000000000000,0000 w(0)=uw(1)=0000000
googg.

00 (1.1) 0000 2=0,2=1000000,000000 2=q¢,2=560000 z=0,
+=1000000 (0 1.100).

b 11. 00000

00 »0000,
u(z) =v((b—a)r+a), h(xr)=(b-a)g((b—a)x+a)
O0000,«0 (1) ODoOOoooooooo.

f(s)=sO00000000. OOO0ODDODOOOOODODOOOOO,0000O0DOOO00
gag.

f(s)=s" (p#1, p>0) [Emden-Fowler 0O 0O]

f(s)=—-s+¢° 0ooooooO]

f(s)=Xe®’, A>0 [Liouville O O O |
Emden-Fowler U0 OOO0OOOO, 0000000000000, LiowileODOOOODOOO
goooooo.
00, f(s) O Emden-Fowler O f(s)=s"(p#1,p>0)000000000000. 000
O, f(s) O

f(0)=0, f(s)>0, f'(s)>0(s>0), lim f(s)=o00

5—00
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0DO000.000 (f(s)/s) =(p—-1)s 200000,
O<p<1 OO0 (f(s)/s) <0 (s>0),
p>1 000 (f(s)/s))>0 (s>0),
O000. 000,00, f(s)00O0ooQ

(F) f€C0,00), f(0)=0, f(s) >0, f'(s) >0 (s>0), lm f(s) =
000000000, "00000oo0ooooooag.

(1.2 (F(s)/s) <0 (s> 0),

(1.3) (f(s)/s) >0 (s> 0).

00 (1.2) 000, (1.1) 0000000000 (sublinear), D0 (1.3) 000, (1.1) 0000
000000 (superlinear) 000 0000000. 00,00000000,00 (F)0O0OO
oo,

00 1.1. feCY0,00) 000,00 (12)0 (1.3)0,0000,
fi(s) < f(s)/s (s>0),
(

fi(s) > f(s)/s (s>0),
oooooo.
00 (1.2),(1.3) 000000000
(1.4) [f(s)]? > F(s)f'(s) (s>0),
(1.5) [f(s)]? < F(s)f'(s) (s>0),

gboobogggbob.odad,

goo.

00 1.2.00 (F)O feC?0,00)00000.
(i) f"(s)<0(s>0)000 (14)00000.
(ii) f/(s)>0(s>0)000 (1L5) 00000,

00 1.3.00 (F)O00o0ooO.

() (1.4) 000 (12)00000.
(i) (15) 000 (1.3) 00000,
000, (14)0 (1500 (12)0(13)0000000000000.

b 1.2.00 1.100000.

00 1.3.00 120 () 00000, (000: 000000, ¢(s) == [f(s)]2 — F(s)f'(s) > 0
(s>0)000.)

00 1.4.00 (F)00000. G(s)=+/F(s) 000.
(1) G"(s) 0000,
() 000000,
//G” Jdudt + sG(s)G"(s) = s'(s) — f(s) (s >0).

(3)00 130 ()00O000.

‘00 (F)DDDD,f() 0(s>0)00000000DO0OO0.00,00000 (F)OOOODOOOOO,O
0000O00.000,0000 f(s)>00000000000000000,(F)0ooO0oDO0oooO.
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fo, [~ €[0,00] 00000
foi= lim f(s)/s, foo:= lim f(s)/s

s—+0

000.(12)0 (1.3) 0000, f(s)/s 000000000000000000.
00 14. 00 (F)OOODODODOO,000000000,

fo=1(0)
0o0O00. 000,00 (F) 000000, f,00000,0< f, <ocoOOO. OO,
f(00) == lim f'(s) € (0,00) 00000000,00000000000

5—00

(1.6) foo = f'(0)
00000. (F), (1.3) 00 f(eo)=00 00000, (1.6)00000 (D0 1.5).

00 1.5. (F), (1.3) 00 f'(0c) =00 000, (1.6) 00000,

2. 00
00,00 f(s) 0000 [0,00) 00000 ROOOODO.

S (s20),
(2.1) f(S)—{ Fs) (s <0).
00 (F) 0000000, feCy(R)000. 00, f(s)0 s£0000000000000
nooo,

lim f/(s) = lim (~f(~5))' = lim f'(~s) = f/(0) = lim f'(s)

s——0 s—4+0

00000, f(s)0 s=00000000.

00 21 (00000000000000). f € CY(R), sf(s) >0 (s £ 0), h € C'[a,b],
hz)>0(@<z<b)00000.q A000,2€cle,b000.0000,00000

{ " + h(z)f(u) =0,
u(zg) = a, u(xg) =p

00000 [@b DDDOOODODODOOO.

(2.2)

gd21oggdobobuoooobbodaod.

00 2.1. (1) 00210000 f(s)0 ¢'00000000000000, f(s)000000
0 (22)000 2=2,00000000000000000 (000 (Peano)00000). O
00, f(s)0000000000,(22)0000000000000.000,00000

u —6ul’ =0
u(0) =0, «(0)=0

00000 w(z)=0,u(z)=2*000. 0000, f(s) = —6s/30 [0,00) DOODODDO,
s=0000000000. 00 f(s)0 C'O00000000O0DOOOODOOOOOOOO0
(Lipschitz) 000 0O0OODO (22) 0000000000 OCO0OO0O0OOOODO.

(i) 00 210000 hO h(z) >0 (« £ 2 <b) 000000000000. hlz) <0
(w<z<b) 00 (F)OO0,00000 (1.1)000000000.00,00,000 «00
0000000, u(ry) = maxe<<pu(x) 00000 29 € (a,0) O u'(z) 200000000
000000, u(z) = —h(z)f(u(z)) 00000, h(z) <000 (F)DOOODOOOOO.



(i) 000, h(z) <0 (e<z<b)000,(22) 000 [0,b) 0000000000000

0oo, -
u'—2ut =0
w(0) =1, w/(0)=1

00 wz)=1/(1-2)0000,0000 z=100000000.
(v)0ODOOOOO21000000000000, f0 ROOOOO0O0000,00,0
000 L>00000,

[f(s) = f(O)| = L[s —t[ (s, t €R)

0000,00,heCle,b) 00000000, (22) 00000 [0,b) 00000000000
0000000000.000,feCR)0 f(s)0 ROODODOOOO,00000000
fO0ROODODOOOOOOOOO.

O 2.1. f € CYR), sf(s) >0 (s # 0%h€@hﬂiﬂ)>0(<x§®w§c§bDDD.u
O« +h(z)f(u)=000000 (00,u(x)200000)000.0000 u(lc)=0000
u(c)£0000.

00.000 feCYR), sf(s)>0(s£0)00 £0)=00000000000. «/(c)=00
0000.0000,ux)=0000000

(2.3)

0
O00000.002100 w(zx)=0000 (23)00000. 0000000000, 4 (c)#0
goo. 0J

00 u(z) 0000,u(c)=0000 ¢0 «000000.

0
s #0), h € C'a,b), h(z) >0 (a £z <b)000O. w0

0 2.2. f € CYR), sf(s) >0 (
| 00000000 (u(z)20) 000, w000 0,5 0000

(
v 4+ h(x)f(u) =0000 [a,b
goooooo.

00.00,«000 [0,b) 00000000 {2,)°°,00000000. 00 {z,}2, 00
000000,0000000000.000000000000 {z,},00000000.
000,00 cele,b) 0000,

lim z, =¢, u(z,)=0 (n=1,2,--+)
n—oo

ooooo. oooooof, 2,0 2,4, 000 W(t,)=0000 ¢, 00000. 0000,
lim t, =cO000. u(xn)—u( ) =000000

n—oo

u(c) = lim u(z,) =0, u'(c)= lim u'(¢,) = 0.

n—oo n—o0

0210000000,002100,u(x)=0000,00000000. U
gogoobogooboog.

DDzszDDDDDDDDDDDDDUDDDDya5ADDD feC\R), sf(s) >0
(5£0), he Ca,b), h(z) >0 (a< 2z <b),a<z,<b0D0D.0000,00000
W 4 M) fu) = 0,
U@dZﬁ

00 u(z, o, 8,A) 0 (z,0, 5, A [abe3DDDDC'1DDDD



3. shooting method (000 00)

00000 (1.1)00000.00,000 u(z)>0(0<zx<1)0000000.0000
00000000000000,0000000000000000.000,0000

u +h(x)flu)=0 (0<z<1),
(P) u(0) = u(1) =0,
u(z) >0 (0<z<1)
0000.000,keCY0,1]000.00000,A(«)=100000
W+ flu)y=0 (0<az<l),
(Py) u(0) = u(1) = 0,
u(z) >0 (0<z<l1)

gbooboogogoooo.
gb2100,00000

W+ f(u)=0 (0<z<1),
{u(()):(), wW(0)=a>0
O000000000000. 0000000 uw(z,e) DOODODOODODO.
00 3.1.A>0, f000 (F)ODOOOOOO. 0000 wO
u" +Af(u) £0 (z>0), wu0)=0, «(0)>0

O0000000,«000 (0,0) 0000000,
00.00000000. w(z)>0(x>000000.
(3.1) u' < =Af(u) <0 (z>0).
000,000 (0,boo)DOOOO.J(0)>000,00 (1), (@) 000000000000,

()00 & >00000, (xy) = 0.

(ii) «'(xz) >0 (z =2 0).

() 00000. 2 =2, +1000,« 00000000 o(z2) <w(21)=0. 000

u'(r) S () (72 29).
00000 [22,2] 000000
w(@) — u(zz) S u'(z2)(z —22) (2 2 22)

O00.x—o0co 0000, (22) <000, limu(z)=—co000. 000 u(z) >0 (x>0)

T—r00
ooooo.
(i) 00000.«000 [0,00) 00000000,

w(z) 2u(l) >0 (z=1).
0oo,

(3.1) 00,

00000 [1,2] 000000
u'(z) —u'(1) = =Af(u())(@=1) (z21).
r—oo 0000, limu(z)=—-0cc000.000 «(z)>0(x>0)00000. O

T—00



003100, uxze) 000 (0,00) 000000 u(z,a) 300 (0,00) 00000000
Z(e)0OODOOOOO.0000000000.

00 3.1. u(z,e) 0 (P,) 0000000, Z(a)=100000000000.

Z(e)000000000000,000000000000000000 shooting method
(0oooo)ooo.

4. 000000000000
u=u(z,a)O
u'=—f(u)<0 (0<z<Z(a))
000000, (0,Z(e) 0000000, (0,Z(e) 000000000000, 000000
T()0DO0.0000
' (T(a), ) =0
goggg.

00 41.a>000000. u=u(z,0)0 20 0000000000 2=T(e) 00000
00000.000, Z(e)=2T(e) 00000,

O00.00000,u=u(r,a),T=T(a), Z=2(«e)000. wx)=u2l —2)000. 00
00, wO

w4+ f(w) =0, w(T)=u(T), W(T)=0=1d'(T)
0000. D00, 000000000 (00 21) 00, w(z) =we) 00000, 00O,
w=u(z) 00000 2=T(x) 000000000000000O00. O

5. time-map OO
oood
F(s)zQ/Sf(t)dt
DDDDD.*DDDD,F(O)zODDD,DDDODDDDDDDDD,
F'(s)=2f(s) >0 (s>0).
000, F(s)0000000000.000,00 (F) 00O, lims,e F(s)=cc 00000 (O
0 5.1).
00 5.1. 00 (F)OO0O0OooooOo, lim F(s)=co0000000000OODO.

S§—00

F(s)DOOODOOoooooo,FO0000 F-'Oooooo. F'0o0000oooooo,oo0
0000005100, [0,00) 000.
O00,u=u(r,a) 0000 timeemap 000000000000 0. 0000

[(/(2))* + Fu(2))]" = 2u'(x)u" () + F'(u(x))u(z)
= 2u/(z)[u"(z) + f(u(x))] =0
00,00 W(2)?+ Flu(z)) 00000000, 000, @/(0)?+ Fu(0)=a?00,
(5.1) ((@))? + Flu(x)) = o*
0oo,
(W/(2))* = ® = F(u(x)).
00 [0,7() 0000 o(z)>000,
u(z) =+/a?—Fu(z)) >0 (02 <T(a)).
‘0000 F(s)= [ f()dt 000000000000,



oQ,

=1 02z <T()).

00000 [0,2)000000

B x ul(t) N N
o= a2_F(u<t))dt (0 <z < T(a)).

000 s=«(t) 000000000,
u(x) ds

xr = i TF(S) (02 <T(a))

000.z—T()0000,

(5.1)0 2=T(a) 0000, u(T(a)=0000000 Fu(T(e)=c200000
u(T(a)) = F~(a?)
000.004100, Z(a) =2T(e) 000

Fl(e?) ds

0 Ja? — F(s)

OO00.000 timeemap OO0 OO0O0OOO.

(5.2) Z(a) =2

00 5.2. f(s)=s 000, time-map 00 (52) 00000, Z(o) 0000. 000,000
00000000000000.

00 5.3. f(s)=¢ 000, timemap 00 (52) 00000,

2
5.3 Zla) = ———log(avVa?+2+a®+1
53) (@) = Zm— loglaV )

O0000.(000: 000 t=vVa2—-2es4+20000000))

6. 00000 time-map OO
00D timemap 00 (5.2)0000,000000000000D0D00CO0O0O0OO.

g(s) = F7'(s*) (s20)
000. timemap 00 (52) 0 s=g(asint) 000000000

Jus

(6.1) Z(a)=2 [ ¢ (asint)dt

000.000,00000 timemap 00 00000000,
00 6.1. f(s)=s000,00 (61) 00000 Z(e)0ODOO.

00 6.2. f(s) = (p>1) 000, (61)00000,0000 C>0¢>00000,
Z(a)=Ce40000000000.00,00000,C,¢0000.000,Cc00000
oooooo.

00 6.3. f(s)=e* 000, (6.1) 00000, (5.3) 000. (000: 000, sin®t = 1 —cos?¢
00000,s=acost 0000000,



t=m—sU0oouogooobo

™

(6.2) /02 ¢ (asint)dt = ﬁﬂ ¢ (asint)dt
0oooo, (6.1) 0
(6.3) Z(a) = /07r g (asint)dt

000000000.
00 6.4.0 (62) 000,00 (6.1) 00, (63)00000.

7. 00000
00 (61)0000,Z()00000000.00000,¢0000000.00,
9(0) =0, g(s)>0 (s>0)
00000.00, F(g(s)=s00000,00000000000000,

J(s) = ——>0 (s>0)

000.000, Flg(s) =s 00
 JFG)
90 = ")
0dn t:g(s)DDDDDDDDDDDD,
F(#)

7.1 '(5)]* = .

(7.1) [9'(5)] Ok
s—0000t—-000000000000,00000000DO, f>0000,
<t )2F<t)_11, 21(t) 1

1
: / 2 _ 15 7 N\ ZINT —
el =mrm) e TR TR TR

fo=00000,0000000000 1400 f’(O):fonDDDDD,
FOP 26000

>0 (s>0).

y—%mzt% F(t) ~ %0 2f(t) _th(l)f,(t>:O:f0'

gboooogn

(7.2 /)= =

00O0. 000,000,1/0 =00 000. 000 s —» 000000 s —» oo 0000,
fx€(0,00)00000O0O,

1
(7.3) g'(00) = ——

Vs

00000, fou=000000,1/oo=0000,(7.3) 00000 (00 7.2). f=0000,
flloo)=0000, f,b=0000000,1/0=00000,(73)00000.

00 7.1. f,=0000,(1.2) 000000, f(eo) =000000. 00,00 1100,
0< f/(s)< f(s)/s (s>0)00000,000000 s—oo0000, fl(cc)=0000.

00 7.1. (F) 000, F(s) <2sf(s) (s=0)000.
00 7.2. (F) 00 fo=00000,¢(c0)=0000.(000: (7.1)00071000))



00 7.1.00 (F)OOOOO0O.000000000A0O.

aILIEO Z(Oé) - ﬁ

O000,00000 1/0=c0c000.

00 7.2.00 (F)O fu €[0,00]00000000. 000 fo=00000 f/(c0) =00
0000.0000000000.

QgZ@%=7%:

O000,00000 1/0=o00,1/cc=0000.
00 71000.((6.1)0 a—»+4+00000,(72) 000000000000, fp>0000

™

. 2, ’ ™
Jim Z() =2 [ (0t = ng(0) =
fo=000000. (7.2) 00, limg/(s) =c0o. 000,000 M>00000,00 0, >00
oooo:

Jds) =M (0<s<a,)
0<a<e,000,(61)00,
Z() EQ/rQ ¢ (asint)dt =2 2 min g'(s)/2 dt > 2?ﬂj\/j

s€la/2,a] ™

6

000 limZ(a) =00 00000, O
a—

00 7.2000. f,=00000,00710 f,=0000000000000. 00, fu >0
D000O0. ee(0,7/2) 00000000, s>0000,¢(s)>000 g(0)=00000
oo,

&€ € 1 1 €
/g’(asint)dt:/ ¢ (asint)acost dt < /g’(asint)acostdt
0 0 acost acose J
1
= g(asine)
acose
_ tane 208I09)
asine
0oo. o000,

€ .
lim Sup/ ¢ (asint)dt < tan e lim sup M
0

a—00 a—oo  QSINE

0000,00000000 (7.3)00,

. glasineg) .. g(B) ., 1

lim 222 lim 22— -
o asine /31—{20 15} Bl—>nolog (B) Vs

goooboogo

2tane

Vs

&€
lim sup2/ g (asint)dt <
0

a—r00
gud.do,gououououood (7.3)DD,
I 2/g (orsint)dt 2/6 L= Lo
1m gOéSln = = T — 4&
Q=00 € € Vfoo fOO
0oooo. (6.1) 00,

™

2/2 ¢ (asint)dt < Z(a) = 2/ g (asint)dt + 2/2 ¢ (asint)dt
€ 0 €



0oO0o00,0000000,

\/%(W—Q(e) §li£gi£fZ(oz) §li£nﬁsolipZ(a) < 2\t/z}%£+ \/%O(W—Zs)
O00000.e¢€(0,7/2)000000000,e—->00000,
Jim Z(e) = 7=
gag. 0
00 71.t=¢(s) 00000,
" LSO = F(t)f(1)
7=

O.(71) 0000 sOoOooooooao,

AP\ POUOR - FOUOR
”“”@‘%(mw)%‘ fiOKk |

000 2¢/(s) 0000,

00 73.00 (F)ooooOQ.

(i) (1.4) 000, Z(e) O (0,00) 0000000000000 ;

(i) (15) 000, Z(e) O (0,00) 0000000000000, °

i)
00.(14)000,007100,¢(s)0 (0,00) 000000000000000,(6.1)00,
Z(o) O (0, )DDDDDDDDDDDDD.DDD,(i)DDDDD.(ii)DDDDDDDD
0. O

. buouobuoobooboobob
ud 71,72, 73,0013, 71000 3100,00000000000.

00 8.1.00 (F)O fo€[0,00] 00000000, fo=00000 (12)00000.
(i) fo<m®< f, 000 (Py)0O0DOOO.
(i) foo <m2< fo000 (P)O0OOO.
00 82.00 (F)O fe€[0,0000000000.
(I) (1.4) 000,
(i) fo<m®< fo000 (P,)000O00D0ODOOO.
(i) foo 272000 722 f, 000 (P,) 0000000,
(1) (1.5) 000,
(i) f0<7r <fo.0OO (P,)00O0O0O0D0OOOO.
i) fozx2000 22 f, 000 (P,) 0000000,

(i

oo00,0000000000,(P;) 000000000000,

‘0013000000 1620000 17.1000000000000,0(F), (1.4) 000 Z'(a)> 0 (a > 0)0
O0(F), (1.5) 000 Z'(a)<0(a>00000000000.
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9. bbuoogd

0000000 (P)00000000000.00000, f(s)000 (F)0000o000
0,20000000 f(s)00000 (21)000,RO000000.000,00 A

he 0,1, h(z)>0 (0Zx<1)
Dooo00oooo. oo,

h. = min h(z), h*= max h(zx)
0<z<1 0<z<1

O000.00000,00 A(e) 000000000 [0,c0)00D0000O0O.
h(z) (05 x2=1),
vy ) 022D
h(1) (z>1).
nooo,
O0<h,=h(z)=h" (x20)
000.300000 uw(z,o) OOODODODO
u” + h(x)f(u) =0,
o) (@)/(w)
u(0) =0, ¥ (0)=a>0

gooag.
00 9.1. 000 a>00000,u(zr,a) OO0 (0,00) 000000OO0.
00. u(z) =ulz,e) 000. 00, u(z) 000 (0,00) 0000000000000DO,
u(z) >0 (x>0)

gooodo.oooo,

u +hf(u) £0 (z>0)
O00000.003100,«0 (0,00) D000000.00000000.000, u(z) OO0
0 (0,00)00000D00. O
009100, u(z,a) 000 (0,00) 00000000, u(z,a) 000 (0,00) 00000
00 Z(e)OOD.0OODO,
(9.2) w(z,a) >0 (0<z<Z(a)), ulZla),a)=0
O00000. 000000000000 00000000000000000,u(z,0) 0 (z,a) €
[0,00) x (0,00) OO0 C* 0000, 0210 (92) 00, 2u(Z(a),a) = (Z(a),a) <00
O0.00,z=Z(a0) 0 u(z,a)=000000000000000000DO,0000000
ZeCY0,00) 000000000,

00310000, u(z,0)0 (P)00O0D0D0000, Z(a)=10000000000000
ooo.

10. 0O0O0O0OO0OO0O
gs000on
Fls) =2 / oy
0

000.00 (F)0Oo0
F(s)=0 (seR)
000000000000 (00 10.1).

00 10.1. (21) 000, F(—s) = F(s), s>0,00, F(s) 00 000000000000, (O
00:000,F(-s)0000,—t=70000000.)

11



0o,

(10.1) Elu)(z) = [u'(2)]* + h(z) F(u(z))
ooo. oo E[u](w)D,uDDDDDDDDDDDDDDD.DDD
W)
H—Orgiagl h(zx)

O000.0000,00 (1) 00000000000 0ODOOOO.
00 10.1. u=u(z,a) OO0, 000000.
e Ha? < Eul(z) £ efla® (x20).
00.00000,El(z)=E() 000.220,z#£1000
E'(z) = I (z)F(u(z)).
noo,
W(z)F(u(x 0<Sz<1),
() = (2)F(u(z)) (0= )
0 (x > 1).
00, (10.1) 00, E(z) = h(z)F(u(z)) D000 O,

u(zr)) < x

Plule) £ 115 E)
ooo,

|E'(z)] < |hl(x”E(m) <HE(x) (0Sz<1)

~ h(x) - '
0o,
—HE(zx) S E'(x) S HE(x) (0Sx<1).

ooooo,

(e"*E(x)) =20, (e*"E(x)) <0 (0<z<1)
D000D. 000 #E(x) 0000000
" E(r) 2 E(0)=a*> (0 <1).
ggd

Y

E(x)Ze "a?Z2e M a? (02 <1).
r—10000,0000 z=10000000000040,
(10.2) E(x)Ze a? (05zZ1).
x>1000, (BE@) =000,

s—10000 (10.2) 00

gogd
E(x)Z2ea? (z20)
0000D0. 000, (e E) <000

goobooogo.
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0 10.1.
H

0<u(z,a) < F! ((Z—

*

aQ) 0 <z < Z(a)).

00. u(z,a)>0(0<z<Z(e)000000000000.00 10100,
hoF(u(z, o)) < [/ (2, a)]? + h(z)F(u(z, o)) < efa?

ggd
oH
F(u(z,a)) < h—oc2.
ggd
u( >< F 1 i 2
n
googgg. U
oo 10.1. M >000
(10.3) a > +/h*e" F(M)
0oo. 00,
~1/2
(10.4) 5= M(e—Ha2 - h*F(M)>

000.0000,00 @), (i), (i) 00000:

(i) T(a) € (0, Z(r)) O W/ (T(a),0) =000000000000, u(T(a), ) > M.
(ii) 1,20 € [0, Z()] OO OO, u(xoz)<M(x1§ Sx) 000 29— £6.
(ili) Z(a) >26 000 w(z,a) > M (0 <x < Z(a) —9).

O0.u=u(r,a) DODO.
(i) «(T(a))=000000,

Elu](T(a)) = M(T()) F(u(T(), @) = B F(u(T(@))).
0010100, (103) 00000,
Eu)(T(a)) = e a? > h*F(M).

000, Fu(T(e) > h*F(M), 00, Fu(T() > F(M). 0000, w(T(a)) > M OO0,
(i) 00 10100,

e Ha? < Elul(z) £ W (2)?+*F(M) (z; L

A

]32).

goo

Y

1/2
! ()] = (e*Hoﬂ . h*F(M)) - % (21 S 7 < ).

000, [z1,2.] 0000, w'(z) 2 M/ 0000 —/(z) 2 M/6 000000000000. O
O J(z)2M/6 000

M = u(ws) = u(zy) + / o (z)dx

00000 -2, <6000, —/(z) 2 M/60000

M
=5

X2 —$1)

M%u(ml)—u(xg)—/ u’(x)dm%%(@—xl)
00000 a,—2, 20000,

(i) 00 ce€ (6, Z(a) —0) 0DOODO, ule) £ M
O00000. u"(z) = —h(x)f(u(z)) <0 (0 <z <
OoooOoooooOooo. o000, ¥(x) 2 d(c)

0000000, 000 W/(c) 2000
()00, 0 [0,Z()) 000000
00<z<¢)000wuw0 [0, 000
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000000,0Zu@) Sule) M (O<L2<c). 000 ()00,c<60000,000
ce(0,Z(a)—0)0O0OOO.

00 u(c)<00000000./00000000000,d'(z)=u(c)<0(csx=s Z())
O00,u0 [,Z()) OO0O0O0O0O0O0O0O0O0,0=u(r) Sule) =M (c 22 S Zw). (i) O
0, Z@) —c<60000000c¢e€ (5,Z)—0)00000. 0000, u(z,a) > M
d<z<Zla)—9. O

11. DO0ooooooo

ggboboo,gbbuogdbbooobobbuoobbooobobbuooobob.oa,bb
gooboooooboboood.

00 11.1. g€ Czy,2,) 00000. o, BO00, m9 € [11,2,] 000. 0000, 00000

(A1) {v”+q(x)v:O,
v(xg) =, V'(rg)=p
00000 [x,22] D00000OODOOO.
gol12000000000o0ooogon.
00 11.2(000000000). h, H€ Clay,25) 00

q(z) < Q(z) (r1 <z < x9)

gbood. 0

(11.2) V" 4+ q(z)v =0
00000 () 20) 0 v(z;) =v(z:) =0000000000. 0000,
V"+Q(z)V =0

00000 VOOO (r,2) 000000O0.

O00.00 (,2) D00000O0000OD0 V'+Q)V=000 VOOOOOOOOOO. O
000,00 (z1,22)0 V(z) >0000 Q(z) <000D0. 0000000000,00 (21, 29)
0 Q) >000000. (00,00 (z,22) 0 V(z)<0000,U=-V0O V'+Q(x)V =0
00000 (21,22) 0 U(x) >0000.) v(z) 000 (21,2, 00000000 23 000. V
000000 (z1,23) D000 0o(z)>0000000000000.0000,x¢€ (z1,29) 0
0oo,

W'V =0V ="V —oV" = [Q(z) — q(2)|oV
0000D0,00000 (2,2) 000000,
(11.3) V' (x3)V (x3) — 0 (21)V(21) > 0

000.0011.100,0(z;) >0, v (z3) <0000. 00, ¢ () 0000000, (x1,23)
0 o(z)>000000,0(x)=00000000000,0011.100,0(z)=00000
000000000, v(zs) <0000000000. 00, V() 20, V(z) 200000,
000 (11.3)00000.000,V 000 (z,2) 0000000 O

000000000 (00 112)0000000000000000000O0O (OO 11.1).

00 11.3. g€ Clry,25) 000 . v 0 (11.2) 000000 w(z) =v(z) =00000000
00.0000,000 (112)00000 (2y,2,) 0000000

o0 11.1. 00 11.300000.
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12. 0D0O4Ogd

000000,h(z) 0090000000O0O0OOO.
goon

O+ A(x)p=0 (0<z<1),
(L) ¢(0) = (1) =0,
plr) >0 (0<z<1)

O0000.00 (L)0D00O0O0O0 AODODQD 0000000, A 0 (L)OD0OOOOO,e00
oooooooo.” O0,(L)0oooooo0 ,, 0000000000 p,000.

0 12.1. h(x) =1 000, A\ =72, p1(x) = csin(mx) (c>0) 0 00.
OO0 12.1. A\; > 0.

00.A\ <00000O0. 000000000 (0011.2)00,V’=000000 VO
00 (0,1) 0000000000D00000. 00,V =10 V"=0000000,00
(0,1)000000000.00000000.A4=0000000, ¢"+M(z)e=0000
o) =cr+c00000. 0000 ¢0)=¢(1)=00000000 ) =000000
00,(L)0000000.000,,#0000.0000,>0000000000. O

A>00000,¢(z,A) 000000
¢+ M(z)p =0, ¢(0)=0, ¢(0)=1

00000. 00000000000000 (00 21)00 ¢\ 00000. 00 910
000000000000000, ¢(z,A) 000 (0,00) 0000000000000, OO
0,R(\) O ¢(z,A) 000 (0,00) 0000000000.0000,00000000000,
RN O A>0000000000000000. A>00 (L)000000O000O0O0O
R(N\)=100000000000.

b 12.2.

i)0<A<w?/h* 000 RN\ > 1.
(i) A>72/h, OO0 R(\) < 1.

O00. v(z) =sin(rz) O
'+ 7120 =0, v(0)=v(l)=0
00000.000,000000000 (00 11.2)00, (@), ()00000. O

00 12.1. 00 (L)D0O00OO0OO0 00000 o, 00000.000 O0ODOOOOOd,

[\V]

2

h.

™ ™

A

h*

A
A

gboooo.

00.0012200,00 X\ € [#2/h*,7%/h,) 0000 R(A\)=100000.000,X 0
(L)000000000, ¢z, A\)0000000000.00 A#A0000,RMN) =10
0000000.00 12100 A»>0. 000000000 (00 11.2) 00, R(A) # R(As)
00000.000 RA)=R(X.)=100000.000,0000000000000. O

‘D000 (L)OOO () >0 (0<2x<1)000000000O0D 000000000 AOOOOODO
gboo,b0bogbooobod eugubugagoooog.
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00 12.3. ))A>A\ 000
(12.1) V" + M(x)v =0

000000 (0,1)00000000000000000.
i) A<X\ 000 (121)00 v0 v(z)>0(0<2<1)0000000000.

00.e20000000000.

() 0000 v(e)=0,v'(e)=10000(121)00 v0000. 000000000000,
vO00000 ¢, 000000e=0000,00 2€(0,1)0000 v(z) =000 v'(2) <0
00000. 000000000000000,00000 e>00000, v(z.) =000
V(%) <00000 2 000000 . 00000.000,v0e>000000000,0
0000¢ 2 €(0,1)000.

(i) 0000 v(0)=¢,v/(e)=10000 (121) 00 v0000. 00000000000
0,v00000 o, 000000e=0000,0(z)>0(0<2<1)000000000. 0
00000000000000,00000 >00000,0() >00<2z<1)0000
0. O

13. DO0ouogooooa

00 13.1. 00 (F)ooooo.

() f(s)/s<\ (s>0)000,Z(a)>1(a>0),000,(P)0000.

(ii) f(s)/s >N\ (s>0) 000, Z(a)<1(a>0),000,(P)0000.
00. (00000, () 0000000000000000. u(r,a) O
fu(z, )
u(z, a)
u(0) = u(Z(a)) =0,
u(z) >0 (0<z<Z(a))

u” + h(zx) u=0,

goood. o

h(@%dlh(;@) 0 <z < Z(a))
00000,000000000 (00 112)00 Z(e)>1000. 0

ud1l1, 12000 13.100,0000040.

0 13.1. 00 (F)O fe€e[0,0000000000.

() (12)000, fe=N 000 N2 f000,(P)0000000.

(i) (1.3) 000, b2\ 000 M2 (., 000,(P)00000O0.
00.()00000. () 0000000000000. (1.2)000, f(s)/s0 (0,00) 000
000

Jim f(s)/s = fo,  lim f(s)/s = foo
00000 f(s)/sO (0,00) 0000000 (f, fo) 000.000,0013100, fo = A
000 N2 f000,(P)0000O0O00. 0

0012100, Ax)=1000 Ay =+200000,0013000,013.1000 820
(I), i) O (1), (i) 00000000000000.

00 13.1. 00 (F)D0O00O0.0000,00 (i), () 0000 @, >000000.
(i) fo>M 000 Z(a) <1 (0< o< ).
i) fo<M OO0 Z(a)>1(0<a= ay).

16



00.()00000. (i) 000000000000, 001200, lim f(s)/s=fo> M\ 0O
oo00O,00000 é6>00000,

f(s)/s>X (0<s<9).
FY0)=000,00000 a,>00000

1 el 2
F h—a <0 (0<acsa

00000.010100,0<a<a, 000,
0<u(z,a)<d (0<x<Z().

oo
h(@% > Mh(z) (0<z < Z()).
DDDDDDDDD(DDHﬁDé,ﬂ®<1m<a§aQDDD. O

14. DOO0ggoooooooon

00 14.1. 00 (F)OOO0O fee (0,00 000000O00O0. 0000, fo>A000,0
O o*>00000,a20*000 Zla)<1OO0O.

O0. A0 fe> 2> 00000000000, 00,
lim f(s)/s = foo > A
S— 00
odoooo,M>0000000000,
f(s)/s>X (s= M)

00000.0012300,(0,1)0000000000 (121)00000 »v00000. 00
O, v(t) =v(ts) =0,0<t; <ty <1000.000000000,(104)06>00000
000000000, [tkt]c(,1-6)00000. Z(e)2100000. 0010100,

wz,a) 2 M (§Sxs1-9)

ooooog,
fu(z, o))
h(z)————— > A\h O<ax< 2 .
@) iy > Mle) (0 <z < Z(a)
DDDDDDDDDDD,(tl,tQ)DD u(m,a)DDDDDDDDDDDDDDD,t2<1—5<
1£Z()00000.000,a>000000000,Z()<100000. O

00 14.2. 00 (F) 0000 fo€[0,00)00000000. 0000, foo<A 000,00
0o >00000,a02e" 000 Z(a)>1000.

O0. 20 fo< A<\ OOODODOODOODOO.M>00D0OO00DOODOOO,
M<)\ (s =2 M)
$
00000, 00 12300, (121) 00000 v 0 v(2) >0 (0<2<1) 00000000

ag.

/

V::max{|v(x>|:0§x§1}.

v(z)
Ooo00. 00,60 (104) 00000, DOO0OO0 of>00000, a2« 000 (10.3)
06V <100000. 00,a2e 000. Z(a)£100000. T(a) € (0,Z(a)) O
W (T(a),a)=000000000. u=u(z,o) DO0O. 0000,

max u(z) = u(T(a))

0=z=Z(a)
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00O0. 001010 () 00, u(T(a)) > M 00000, u(z) = u(z) = M,
(r1 <z <z) 0000 21,20 € (0,Z()) DOOODO. OODODO, W(x1) >0, u(xg
gooddodooo. oo 10100,

e o® < Blul(x)) S [u'(z;)]" + KF(M)  (j=1,2)

(z) >

u\x
)<00O

ooooo,
W/ (x;)]* 2 e Ha? = F(M) = M?* 2% (j=1,2).
u(zy) =u(zy)) =M 0O MV =100

(14.1) ‘Zéfjf' > % >V (j=1,2).
W(xzy) >000000 o(xq)/u(zy) 2V 20 (x1)/v(zy). OO,
(14.2) u'(z1)v(z1) — u(zy)v' (21) 2 0.

I~

(x)2M (11 Sx<2) 00000,

[ tete) e = [ hie) 3 LD oyt 0

o u(z)

goo

)
T2

[u’(:c)v(x) — u(:z;)v’(:c)} > 0.

x1

00D (14.2) 00
' (22)v(xa) — u(z2)v (x9) > u'(x1)v(21) — u(wy)v' (21) 2 0.

ooo,

gobooo

W' (wa)] _ —w'(wa) _ —v'(wa) _ [v(w2)]

u(zs) u(zo) v(ry) T w(xe) T

000 (141)000000.000,a2e* 000 Z(a)>10
00 13.1,14.1, 420 0000000000.

00 14.1. 00 (F) 000D fo€[0,00]0000000O0O.
() fo<M < foOOO (P)OODODODO.
(i) o<\ < feo OOO (P)DDOOODO.

15. 0000000000000000
0131000 14100,0000000000000
00 15.1. 00 (F) O fe€[0,00] 00000000,

(I) (1.2) 000

i) fo<M < fo00OO (P)OOOODO.
fe=AN 000N f000,(P)00000O0O0.

(i)
(1.3)000
)
)

(11)
() fo<M < foDOOO (P)OODODO.
i) o=\ 000 N2 f.000,(P)0000O0O00.

> M
0

000000,(P)0000000000,(1.2)0 (1.3)000, fo, fo, MOO0O0O0O0O00
0000O0000.0081000000,0000000000000000000000
00000000,000000000000000000000000000000000

gboobog,b0oboggoboboooon.
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16. OOUooobobboooo.-0bboboao

0900000000,z =2 0 w(Z(),e)=00000000,00000000,
Z € CY0,00), 00

o B(Z(a).0)
20 = = i Za). o)

0000.09000000 2100 v(Z(e),e)<00000000,

good,ggdd.
00 16.1. w(Z(a),a)>0000 Z'(a) > 0. w(Z(a),a) <0000 Z'(a) <0.
00,00000000000, w(z,a) O
w” + h(x) f'(u(x,a))w =0,
. () (ulr,0)
w(0) =0, w'(0)=1,

0000000000000, (00 (161)000 (9.1)0 « 0000 (0000)0000
000000000000000.)

00 16.1. (F), (1.2) 000 w(z,a) >0 (0 <z = Z(w)).

O0.w=w(r,a)0OO0. 00 c€(0,Z(a)] 0000 we)=000000. »'(0)=100
(0,c) 0000 w()>0000000.000,(161)000

w” + h(z) f'(u(z,a))w =0, w(0)=w(c)=0.
00 1100,s>0000 f(s)< f(s)/s00000. 000,

h(z) ' (u(z, @) < h(x)% (0 <z < Z(a)).
00, u(z,a) O
u’ + h(z )fi“i"”’of;)) =0, u(0)=u(Z(a)) =0,

(
00000. 000000000 (0011.2)00,¢> Z(a). 000 ¢ < Z(a)00OO0O0DO
0. 0

0016100 w(Z(a),a)>0.000,00161000000.
00 16.2. (F), (1.2) 000 «>00000 Z(a)>000000.
0000 162000,000000
00 16.1. (F), (1.2) 000, (P) 0000000000000 OO.

00oooooooo0 (9100 uw(z,e) DO0 Z(oy OOODOOOODO (16.1) OO
w(z,0) 00 000000000,00000(P)000O0O00DOO0O00O00O0OO Kolodner-
Coffman 00 O0000. 00000 Koloduer (6] 000000000, O000, Coffman O
4], [5)00000000DOO0DO,D000000000000000O0O0DO0DOO0DOOO. OO0
00000000 Kolodner-Coffman 0000000, 00000000000 OOOOOO,
O00000000000,000000000000000000000000000000
oo0oog.
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17. JobOoboOoboooboo:.-b00bon

0000000000000 000D000D Ae) DOODODODODOOODOOOODDODOO,
h(zx) DO0OO0O0O0O0O0ODOOOO0O0OOOO.0DOO0O000O0OO0ODODOOOO0OO.0O0OOO,
Kolodner-Coffman 00O OO0, 000000O0O.

00 17.1. 00 (F), (1.3) 00000 (17.1), (172) 0000
(17.1) 2h(z) +zh’(z) 20 (0=2=1),
(17.2) 2h(z) — (1 —2)h(z) 20 (0=z=1).

0000 (p)00O0O0OOO0O0OO0OO00OOOOoOO.
00 17.1. 00 17.10000,00 (17.1), (17.2) 0000000000000, (00DO0.)
00,00000 u=u(z,a), w=w(za) 000.

00 17.1. 000 geC?0,1]0000,0000000.
/

(17.3) gw'u' + gwhf(u) — gwu'| = —g"wu' + (2¢'h + gh') f(u)w
O0.00000 (173)0000oooon. ]
T(a) e (0,Z(a)) O v/ (T(a),) =000000000.

00 17.2. 00 (F), (17.1) 00000000, 00 (0,T()] 0 w(z,o)>0000.

00.00 ce(0,T() 0000 we)=000000. «(0)=100,00 (0,¢) 0 w(z) >0
00000.0000 w()<0000.00 «(¢)=2000000.000 (17.3)0 g(z) =x
0ooo

[:z;w’u’ + zwhf(u) — wu’} , = (2h + zh) f(u)w

00000 [0,d000000

(17.4) cw'(c)u'(c) = /OC (Qh(x) - xh'(m))f(u(:r))w(x)da:.
oh(z)+ah(z) 0 =0000000000,006>00000
2h(z) +zh/ () >0 (02 <9).

000 (17.1), (174) 00O, cw'(c)v/(c) > 0. OO0, 000 w'(c) <0,v(c)20000. OO
00,00 (0,7(a)] 0 w(z,a)>0000. O

00 17.3.00 (F), (1.3) 00000. 0000, w(z,e) 000 (0,Z(0)) 0000000 .

00.001100,s>00000 f(s)> f(s)/s 00000. 000

) (u(w) > b T

000000000 (0011.2)00 w000 (0,Z(e) 0000000, 0

(0 <z < Z(a)).

w(z,a) 000 (0,00) 00000000 R(e) 00O

00 17.4. T(a) < R(a) < Z(a) =1000. 00000 (F), (172) 00000. 0000
w(z,a) <0 (Rla) <z = Z(a))DDODODOO.
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O00.00 ce(R(a),Z()) 0000 we)=00000 (R(a),c) D000 w(x)<0OOO
00.000 (173)0 g(z)=1—2 0000

(1 —2)w'v' + (1 — x)whf(u) + wu'} = {—Qh(x) + (1 =)' (z)| f(uw)w = 0.

000 [R(e),d 000000
(1= cw'(c)u'(c) — (1 = R(a))w'(R(a))u'(R(er)) 2 0

000,000 w'(c)>0,u(c)<000000.000,R(e)<z=Z()0000 w(z,a) <0
googg. U

0017.1000.000 Z(o)=1000 Z'(a)<000000.00 Z(e)=1000,00
17.2-17400 w(Z(a),a) <0000,00 16100 Z(a)<0000
00,(P)00000D00000000000000000 o, 00000

0<ag <az, Zlag)=2Z(az)=1.
000, Z'(a) <0, Z'(ay) <000000. 00000000 Z(ag) =100 Z'(a) 2000
00 o€ (,a0) 0O00O00. 00000. 000 (P)ODODOOOOODOODOOOOOO. O

18. DOougoobobouooobo.-0obbobogao
ggooboogd

u' +|z|fuP =0 (—1<az<1),
(18.1) u(—1) =u(l) =0,

u(z) >0 (-l<zx<l)
oooo.ooboi>0,p>1000.
00 18.1. l(p—1)>4000,00 (181) 0000000000000,
pgooagg.

//+xl p:O’
(18.2) {w 2|

p(0) =1, #'(0)=0.
003100000000000000000.
00 18.1. ¢ O (0,00) DODOD DD,
00 18.2. o0 000000,

00. ¢(z)=¢(—2) 000.¢ 0 (182)00000.00000000000000, ¢(x)
Y(z). 000,90 000000,

|

00 18.3. 00 (18.1) DO0O0ODODOOO.

O0.00 (0,oo) OO0 0000000 2000.0018100,00000 2000
gb. 0018200 o0 OO40O0OOOO,

p(x) >0 (ze€(=22), @(-2)=¢(z)=0
00000, u(z) =32/ Np(z2) 0000 « 000 (181) 00000000 O
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000000 w(x,a) O

u(-=1)=0, v (-1)=a>0
00000. 00, Z(e) 0 ulz,a) 000 (~1,00) 000000000000,
uod 141, 420000000000000000ODO.

00 18.4.00 (i), (i) D0D0OO.

() «>000000000, Z(e) > 1,
(i) a>000000000, Z(a) < 1.

{ u” + |z|'uP = 0,

w(z,a) O
w” + ple|u(z, a)Pw = 0,
w(=1)=0, w'(-1)=1
godod.
gOoleld00dooooboooogoon.
00 18.5. w(Z(a),a)>0000 Z'(a) > 0. w(Z(a),a) <0000 Z'(a) <0.

0018.300,00 a; >00000 u(z,eq) 0 (181)00000000. 0000 Z(ew) =1
ooo.
00, u =u(zr,01), vy =w(z,a;) OO00. 0000, wy O
w + ple|'uf wy =0
gooao.
oogd 18.6. w, OO0 (—I,I]DDDDDDDDDDDD.

gg.
c=——, y(x)=cu(x)+ zuy(x)
000.0000,y0
y' +plefui Ty =0

gooood. oo,

y(0) = cup(0) >0, y(£1) = +u'(£1) <0,

y'(x) >0 (z€[-1,0), ¢(z)<0 (xe(0,1])
Oo00000Od,y000 (-1,1))000000000000O00O0O.
O0,w 0 (-1,1]000000000000000000O,w(-1)=000000,00

11300,y 0 (-,1]00000000O0OOOOOOOOOOOOO,0O0D0DO.
ooo0,w, 000 (-1,1]000000000000. U

00 18.7.l(p—1)>4000,w, 000 (0,1) D000000O0OOOOOOODO.
00. y(z) =auy(z) — (1 —2)2f(x) 000. 0000 y O
y' + plelui Ty = Jal'a (o) (2 € (0,1])
gogd.oog
r(z) = (p+1+3)z* =201 +2)z +1

[+2 Y I(p—1)—4
p+1+3 p+1+3

:@+l+$(x— >0

000.0000
(y'wr —yut)' = |a|'z™ r(2)ufw,

22



0000000,000 [0,1]000000,y(0)=y(1)=000,

(18.3) y (D (1) — (0 (0) = /0 2l () uluy da

000.00 (0,00) 0 wy(z) >0000,(183) 0000000000,000000000
00.000 (0,00) 0 wi(z) <0000000000.000,w, 000 (0,1)000000
Dooooooooo. 0

00 188.1(p—1)>4000,w, 000 (-1,000000000000000000.
00.y000187000000. v(z)=y(—2) 0000, v 0
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